

State of West Virginia Department of Administration Purchasing Division 2019 Washington Street East Post Office Box 50130 Charleston, WV 25305-0130

# Request for Quotation

6612C024

PAGE

ALAN CUMMINGS
304-558-2402

rfo copy type NAME/ADDRESS HERE Crop Production Services, Inc. 1850 Touchstone Road Colonial Heights, VA 23834

DATE PRIN	TED	TER	MS OF SAL	<b>E</b> ::::::::::::::::::::::::::::::::::::	SHIP V	IA .	F.(	Ó.B. (1991)	FREIGHT TER	MS
04/16/						DID	DDENTHO	TIME 03	. X O D M	
BID OPENING DATE:		05/02/		De Marie	Tara data a sectoriale:		DPENING		130 PM	3138 7, 3347
LINE	QUA	NTITY	ÜÖP	OAT No	ITEMNU	ABER	UŅſ	r PRICE:	AMOUNT	
			4	2.3.3.						
0001			EΑ		675~85					
		1	-73		0.0					
	HERBIC	IDE, A	DJUVA	NTS,	SAFETY &	MISCELL	ANEOUS 1	TEMS		
							l			i i
										1
				OPEN	END CONT	RACT				
	**************************************	.o. u.r.o	CTALTA	CTAT	E PURCHAS	THE DIL	TOTON E	ND THE		
					NIA DIVIS					
	COLTCI	TING R	TDS F	UB VI	OPEN END	CONTRA	CT TO PI	ROVIDE		1
	HERBIC	TDES.	ADJUV	ANTS	SAFETY A	ND OTHE	R MISCE	.LANEOUS		}
	ITEMS	FOR AL	L TEN	DIST	RICTS PER	THE AT	TACHED			i
		ICATIO	State of the second state of the second state of							i
				i						1
	EXHIBI	T 3								
			0107	T1	TO CONTRA	OT BECK	MES EEE	ECTIVE ON		
ļ	LIFE	JE CONT	TENDS	EUD	A PERIOD	OF ONE	(1)	ECTIVE ON		
	AMAKD	אט הארו אם האא	LEMPS	H NBE	ASONABLE	TIMEN :	HEREAFT	ER AS IS		1
	NECESS	SARY TO	OBTA	IN A	NEW CONTR	RACT OR	RENEW T	KE		1
	ORIGIN	VAL CON	TRACT	. Th	E "REASON	ABLE T	ME" PER	IOD SHALL		1
	NOT EX	CEED T	WELVE	(12)	MONTHS.	DURING	THIS "	REASONABL	E	
	TIME"	THE VE	NDOR	MAY 1	ERMINATE	THIS CO	NTRACT	FOR ANY		
	REASON	N UPON	GIVIN	G THE	DIRECTOR	or Pu	RCHASING	30 DAYS		ĺ
	WRITTI	EN NOT	CE.		į.					
				DOUT	TONO ADE	CTION	ATED ELE	EMMEDE		
	UNLESS	S SPEC	IP IC F	KOATS	IONS ARE	31170L	E UE MES	T		1
	TH IH	T2 COM	I CACI	NCIE	ng an i	TTTCAL	SUBDIVIS	IONS, THE	DECE	11/10
	TERMS	· CUND.	TTONS	S. ANI	PRICING	SET FO	RTH HERE	IN ARE	IRECE	IVED
	FIRM	FOR THE	LIFE	OF	HE CONTRA	ACT.				
				1					2012 MAY 16	AM 9: 56
	RENEW	AL: TH	IS COL	TRAC'	MAY BE	RENEWED	UPON TH	E MUTUAL	EULETINI IO	KIT J. UC
	WRITT	EN CONS	SENT (	F THI	SPENDIN	G UNIT	AND VEND	OR,	MALDING	110110
	SUBMI	TTED TO	THE	DIRE	TOR OF P	URCHASI	NG THIRT	Y (30)	WV PURC	
1					1				DIVIS	ION .
Week (j. 18-19). S		)	I Necessita	SEER	VERSE SIDE FOR	TERMS AND C	ONDITIONS	g gray arround	U	
SIGNATURE	1	-				THE BUSINE	36-85	DATE	5/14/14	*
nile.	1 1	V. (-	FEIN	7-1-411		10101			S TO BE NOTED A	BOVE
Maticnal	Market	Mar.	04-	376916		ABBBBB			ED 'VENDOR'	

#### **GENERAL TERMS & CONDITIONS** REQUEST FOR QUOTATION (RFQ) AND REQUEST FOR PROPOSAL (RFP)

- 1. Awards will be made in the best interest of the State of West Virginia.
- 2. The State may accept or reject in part, or in whole, any bid.

3. Prior to any award, the apparent successful vendor must be properly registered with the Purchasing Division

and have paid the required \$125 fee.

- 4. All services performed or goods delivered under State Purchase Order/Contracts are to be continued for the term of the Purchase Order/Contracts, contingent upon funds being appropriated by the Legislature or otherwise being made available. In the event funds are not appropriated or otherwise available for these services or goods this Purchase Order/Contract becomes void and of no effect after June 30.
- Payment may only be made after the delivery and acceptance of goods or services.
- 6. Interest may be paid for late payment in accordance with the West Virginia Code.
- 7. Vendor preference will be granted upon written request in accordance with the West Virginia Code.
- 8. The State of West Virginia is exempt from federal and state taxes and will not pay or reimburse such taxes.
- 9. The Director of Purchasing may cancel any Purchase Order/Contract upon 30 days written notice to the seller.
- 10. The laws of the State of West Virginia and the Legislative Rules of the Purchasing Division shall govern the purchasing process,
- 11. Any reference to automatic renewal is hereby deleted. The Contract may be renewed only upon mutual written agreement of the parties.
- 12. BANKRUPTCY: In the event the vendor/contractor files for bankruptcy protection, the State may deem this contract null and void, and terminate such contract without further order.
- 13. HIPAA BUSINESS ASSOCIATE ADDENDUM: The West Virginia State Government HIPAA Business Associate Addendum (BAA), approved by the Attorney General, is available online at www.state.wv.us/admin/purchase/vrc/hipaa.html and is hereby made part of the agreement provided that the Agency meets the definition of a Cover Entity (45 CFR §160.103) and will be disclosing Protected Health Information (45 CFR §160.103) to the vendor.
- 14. CONFIDENTIALITY: The vendor agrees that he or she will not disclose to anyone, directly or indirectly, any such personally identifiable information or other confidential information gained from the agency, unless the individual who is the subject of the information consents to the disclosure in writing or the disclosure is made pursuant to the agency's policies, procedures, and rules. Vendor further agrees to comply with the Confidentiality Policies and Information Security Accountability Requirements, set forth in http://www.state.wv.us/admin/purchase/privacy/noticeConfidentiality.pdf.
- 15. LICENSING: Vendors must be licensed and in good standing in accordance with any and all state and local laws and requirements by any state or local agency of West Virginia, including, but not limited to, the West Virginia Secretary of State's Office, the West Virginia Tax Department, and the West Virginia Insurance Commission. The vendor must provide all necessary releases to obtain information to enable the director or spending verify that the vendor is licensed and in good standing with the above entities.
- 16. ANTITRUST: In submitting a bid to any agency for the State of West Virginia, the bidder offers and agrees that if the bld is accepted the bidder will convey, sell, assign or transfer to the State of West Virginia all rights, title and interest in and to all causes of action it may now or hereafter acquire under the antitrust laws of the United States and the State of West Virginia for price fixing and/or unreasonable restraints of trade relating to the particular commodities or services purchased or acquired by the State of West Virginia. Such assignment shall be made and become effective at the time the purchasing agency tenders the initial payment to the bidder.

I certify that this bid is made without prior understanding, agreement, or connection with any corporation, firm, limited liability company, partnership, or person or entity submitting a bid for the same material, supplies, equipment or services and is in all respects fair and without collusion or Fraud. I further certify that I am authorized to sign the certification on behalf of the bidder or this bid.

#### INSTRUCTIONS TO BIDDERS

- 1. Use the quotation forms provided by the Purchasing Division. Complete all sections of the quotation form.
- 2. Items offered must be in compliance with the specifications. Any deviation from the specifications must be clearly indicated by the bidder. Alternates offered by the bidder as EQUAL to the specifications must be clearly defined. A bidder offering an alternate should attach complete specifications and literature to the bid. The Purchasing Division may waive minor deviations to specifications.

3. Unit prices shall prevail in case of discrepancy. All quotations are considered F.O.B. destination unless alternate shipping terms are clearly identified in the quotation.

4. All quotations must be delivered by the bidder to the office listed below prior to the date and time of the bid opening. Failure of the bidder to deliver the quotations on time will result in bid disqualifications: Department of Administration, Purchasing Division, 2019 Washington Street East, P.O. Box 50130, Charleston, WV 25305-0130 5. Communication during the solicitation, bid, evaluation or award periods, except through the Purchasing Division, is strictly prohibited (W.Va. C.S.R. §148-1-6.6).



- POOZE

RFQ COPY

TYPE NAME/ADDRESS HERE

State of West Virginia Department of Administration Purchasing Division 2019 Washington Street East Post Office Box 50130 Charleston, WV 25305-0130

# Request for Quotation

AFO NUMBER 6612C024

	DDHESS CORRESPONDENCE
ΔΝ	CUMMINGS

ICE TO ATTENTION OF: 304-558-2402

8H-P-TO ...

DATE PRINTED.		TER	MS OF SAL	<b>É</b> . 2.8	SHII	ν <sub>Ι</sub> Λ ::	733			FREIGHT TERMS
04/16/20										1 7001
BID OPENING DATE:		05/02/					OP	ENING T		1:30PM
LINE	: QUA	YTITY	YOU	OAT.	ітеми	UMBER		UNIT PF	licë.	AMOUNT :
BE OR	IN IGIN	ACCORD	ANCE TRACT	WITH AND	RATION D THE TERM SHALL BE	S AND C	OND	ITIONS	OF THE	
RI NO SU	GHT TICE	TO CAN TO TH ED ARE	CEL T E VEN OF A	HIS C DOR I N INF	CTOR OF ONTRACT F THE CO ERIOR QU OF THE I	IMMEDIA ITIDOMMODITI IALITY O	TEL ES R D	Y UPON ' AND/OR OO NOT C	WRITTEN SERVICE ONFORM	l SS
AU MA ES IM CA PC	THOR ARKET STIMA AMEDI AUSES	RIZE A T, WITH ATE, IT (ATE DE S (INCL TION OR	SPEND OUT T EMS S LIVER UDING	ING U HE FI PECIF Y IN BUT	E DIRECT NIT TO F LING OF IED ON EMERGENO NOT LIME CIPATED	PURCHASE A REQUI THIS CON CIES DUE ITED TO	SIT TRA TO DEL	N THE OP TION OR ACT FOR D UNFORE AYS IN	EN COST SEEN TRANS-	
AF TH TH	PROX HE ST HAT T RDERI	(IMATIC FATE SF FHE CON ED FOR	NS ON PENDIN TRACT DELIV	ILY, I IG UN: I SHAI IERY I	LISTED ASED ON T. IT L COVER OURING T	ESTIMAT IS UNDER THE QUA HE TERM	ES STO NT	SUPPLIE OOD AND ITIES AC THE COM	D BY AGREED TUALLY ITRACT,	
W T I	RITTI HE VI HE OI ENDOI AILE	EN STATENDOR INTERIGINATION OF THE PROPERTY OF	TE COI	NTRAC OMMOD Y OF IZATI RCHAS	PENDING TORDER THES CO THE WV-3 ON FOR S ING DIVI	(FORM NUVERED BY 9 SHALL HIPMENT SION, A	JMB Y T BE A	ER WV-39 HIS CONT MAILED SECOND	)) TO TRACT. TO THE COPY	
В		UPTCY:			VENT THE					
0	0			SEEP	EVERSE SIDE FO					TE CLALIA
SIGNATURE	XT					LECKING NE	$\mathcal{E}\mathcal{E}$	19-856	21	5 14/12
mig. R	Dr	11 1 ~ 1	FEIN				🗸	ADD	RESS CHAN	GES TO BE NOTED ABOVE
Mational Ma	464	Mari	TOPE	O INIOI	DT NAME A	ND ADDRES	11 22	V SPACE AF	ROVELAR	FI FD 'VFNDOR'
WHE	M HFX	Se na Char.	11114	-ורימוו ניי	T I IVAUIII- A	NIT MINITA	and su		erikomo, A Riddill	5 var 30 valid — Nederli diversioner vietation



State of West Virginia Department of Administration Purchasing Division 2019 Washington Street East Post Office Box 50130 Charleston, WV 25305-0130

#### Request for Quotation

RFO NUMBER 6612C024

PAGE

ALAN CUMMINGS

ADDRESS CORRESPONDENCE TO ATTENTION OF 304-558-2402

RFQ COPY TYPE NAME/ADDRESS HERE

DATE PRINTED TERMS OF SALE	SHIP VIA	F.O.B.	FREIGHT TERMS
04/16/2012			
BID OPENING DATE: 05/02/2012	BID		1:30PM
LINE QUANTITY. VOP. CAT.	ITEM NUMBER	UNIT PRICE	AMOUNT:
FOR BANKRUPTCY PROTECT			
CONTRACT NULL AND VOID WITHOUT FURTHER ORDER.		SUCH CUNTRACT	
THE TERMS AND CONDITION			
SHALL SUPERSEDE ANY AN CONDITIONS WHICH MAY A			
DOCUMENTS SUCH AS PRIC	E LISTS, ORDER F	ORMS, SALES	
AGREEMENTS OR MAINTENA ELECTRONIC MEDIUM SUCH		INCLUDING ANY	
REV. 01/17/2012 EXHIBIT 4			
LOCAL GOVERNMENT BODIE	S: UNLESS THE	VENDOR INDICATES	s
IN THE BID HIS REFUSAL	TO EXTEND THE P	RICES, TERMS,	
AND CONDITIONS OF THE AND OTHER LOCAL GOVERN	MENT BODIES, THE	BID SHALL EXTE	
TO POLITICAL SUBDIVIST VIRGINIA. IF THE VENT	ONS OF THE STATE OOR DOES NOT WISH	OF WEST	
PRICES, TERMS, AND COM	DITIONS OF THE B	ID TO ALL	
POLITICAL SUBDIVISIONS CLEARLY INDICATE SUCH	REFUSAL IN HIS E	THE VENDOR MUST BID. SUCH REFUS	AL
SHALL NOT PREJUDICE TI			
MANNER.	}		
REV. 3/88			
PURCHASING CARD ACCEPT	TANCE: THE STATE	OF WEST VIRGIN	IA
IS ISSUED THROUGH A B.	NK. THE SUCCESS	FUL VENDOR	
MUST ACCEPT THE STATE	OF WEST VIRGINIA	VISA PURCHASIN	G
AGENCY AS A CONDITION		NII SIAIG	
NO	TICE		
SEE R	EVERSE SIDE FOR TERMS AND CO		1 - 15 THE WALL TO STATE
SIGNATURE	receptor (	0)367-8561	5/4/6
Wational Market Mar. FEIN WHITE DESPONDING TO BED INSE	DT HALF AND ADDRESS	4 °	GES TO BE NOTED ABOVE



->mzooc

RFQ COPY

TYPE NAME/ADDRESS HERE

State of West Virginia
Department of Administration
Purchasing Division
2019 Washington Street East
Post Office Box 50130
Charleston MV 25205 2420 Charleston, WV 25305-0130

6612C024

AFO NUMBER ....

. ADDRESS CORRESPONDENCE TO /	TTENTION OF:

ALAN CUMMINGS

304-558-2402

SHIP TO

04/16/2012  05/02/2012  BID OPENING TIME 01:30PM  OUAMITY 000 CAT TEMPULUER 1 UNIT PROCESSARY  TO CONTACT PERSON (PLEASE PRINT CLEARLY):  Charks E. Snyth of Tempuluer 1 Tempuluer 1 Unit Processory  O4/16/2012  BID OPENING TIME 01:30PM  O4/16/2012  BID OPENING TIME: 01:30PM  O4/16/2012  O4/16/2012  O4/16/2012  O5/02/2012		ED TERMS OF SALE ::	SHIP VIA	F.Ö.8.	FREIGHT TERMS
A SIGNED, BID MUST BE SUBMITTED TO:  DEPARTMENT OF ADMINISTRATION PURCHASING DIVISION BUILDING 15 2019 WASHINGTON STREET, EAST CHARLESTON, WV 25305-0130  THE BID SHOULD CONTAIN THIS INFORMATION ON THE FACE OF THE ENVELOPE OR THE BID MAY NOT BE CONSIDERED:  SEALED BID  BUYER:  ALAN CUMMINGS - FILE 33  RFQ. NO.: 6612C024  BID OPENING DATE: 05/02/2012  BID OPENING TIME: 1:30 P.M.  PLEASE PROVIDE A FAX NUMBER IN CASE IT TO CONTACT YOU REGARDING YOUR BID: (404) 520-0084			prn	OPENING TIME	01.30PM
A SIGNED, BID MUST BE SUBMITTED TO:  DEPARTMENT OF ADMINISTRATION PURCHASING DIVISION BUILDING 15 2019 WASHINGTON STREET, EAST CHARLESTON, WV 25305-0130  THE BID SHOULD CONTAIN THIS INFORMATION ON THE FACE OF THE ENVELOPE OR THE BID MAY NOT BE CONSIDERED:  SEALED BID  BUYER:  ALAN CUMMINGS - FILE 33  RFQ. NO.: 6612C024  BID OPENING DATE: 05/02/2012  BID OPENING TIME: 1:30 P.M.  PLEASE PROVIDE A FAX NUMBER IN CASE IT TO CONTACT YOU REGARDING YOUR BID: (304)520-0084  CONTACT PERSON (PLEASE PRINT CLEARLY):					
DEPARTMENT OF ADMINISTRATION PURCHASING DIVISION BUILDING 15 2019 WASHINGTON STREET, EAST CHARLESTON, WV 25305-0130  THE BID SHOULD CONTAIN THIS INFORMATION ON THE FACE OF THE ENVELOPE OR THE BID MAY NOT BE CONSIDERED:  SEALED BID  BUYER: ALAN CUMMINGS - FILE 33  RFQ. NO.: 6612C024  BID OPENING DATE: 05/02/2012  BID OPENING TIME: 1:30 P.M.  PLEASE PROVIDE A FAX NUMBER IN CASE IT TO CONTACT YOU REGARDING YOUR BID: (404) 520-0084  CONTACT PERSON (PLEASE PRINT CLEARLY):	LINE	No.	The state of the s		
DEPARTMENT OF ADMINISTRATION PURCHASING DIVISION BUILDING 15 2019 WASHINGTON STREET, EAST CHARLESTON, WV 25305-0130  THE BID SHOULD CONTAIN THIS INFORMATION ON THE FACE OF THE ENVELOPE OR THE BID MAY NOT BE CONSIDERED:  SEALED BID  BUYER: ALAN CUMMINGS - FILE 33  RFQ. NO.: 6612C024  BID OPENING DATE: 05/02/2012  BID OPENING TIME: 1:30 P.M.  PLEASE PROVIDE A FAX NUMBER IN CASE IT TO CONTACT YOU REGARDING YOUR BID: (404)520-0084  CONTACT PERSON (PLEASE PRINT CLEARLY):		16			
DEPARTMENT OF ADMINISTRATION PURCHASING DIVISION BUILDING 15 2019 WASHINGTON STREET, EAST CHARLESTON, WV 25305-0130  THE BID SHOULD CONTAIN THIS INFORMATION ON THE FACE OF THE ENVELOPE OR THE BID MAY NOT BE CONSIDERED:  SEALED BID  BUYER: ALAN CUMMINGS - FILE 33  RFQ. NO.: 6612C024  BID OPENING DATE: 05/02/2012  BID OPENING TIME: 1:30 P.M.  PLEASE PROVIDE A FAX NUMBER IN CASE IT TO CONTACT YOU REGARDING YOUR BID: (404)520-0084  CONTACT PERSON (PLEASE PRINT CLEARLY):		A STONED RID MUST BE	SUBMITTED TO:		
PURCHASING DIVISION BUILDING 15 2019 WASHINGTON STREET, EAST CHARLESTON, WV 25305-0130  THE BID SHOULD CONTAIN THIS INFORMATION ON THE FACE OF THE ENVELOPE OR THE BID MAY NOT BE CONSIDERED:  SEALED BID  BUYER: ALAN CUMMINGS - FILE 33  RFQ. NO.: 6612C024  BID OPENING DATE: 05/02/2012  BID OPENING TIME: 1:30 P.M.  PLEASE PROVIDE A FAX NUMBER IN CASE IT TO CONTACT YOU REGARDING YOUR BID: (804)520-0084		A 370NED, 275 NOON 25 N			
BUILDING 15 2019 WASHINGTON STREET, EAST CHARLESTON, WV 25305-0130  THE BID SHOULD CONTAIN THIS INFORMATION ON THE FACE OF THE ENVELOPE OR THE BID MAY NOT BE CONSIDERED:  SEALED BID  BUYER: ALAN CUMMINGS - FILE 33  RFQ. NO.: 6612C024  BID OPENING DATE: 05/02/2012  BID OPENING TIME: 1:30 P.M.  PLEASE PROVIDE A FAX NUMBER IN CASE IT TO CONTACT YOU REGARDING YOUR BID: (804)520-0084  CONTACT PERSON (PLEASE PRINT CLEARLY):					
THE BID SHOULD CONTAIN THIS INFORMATION ON THE FACE OF THE ENVELOPE OR THE BID MAY NOT BE CONSIDERED:  SEALED BID  BUYER:  ALAN CUMMINGS - FILE 33  RFQ. NO.:  6612C024  BID OPENING DATE:  05/02/2012  BID OPENING TIME:  1:30 P.M.  PLEASE PROVIDE A FAX NUMBER IN CASE IT TO CONTACT YOU REGARDING YOUR BID:  (804) 520-0089  CONTACT PERSON (PLEASE PRINT CLEARLY):			IUN		
CHARLESTON, WV 25305-0130  THE BID SHOULD CONTAIN THIS INFORMATION ON THE FACE OF THE ENVELOPE OR THE BID MAY NOT BE CONSIDERED:  SEALED BID  BUYER:  ALAN CUMMINGS - FILE 33  RFQ. NO.:  6612C024  BID OPENING DATE: 05/02/2012  BID OPENING TIME: 1:30 P.M.  PLEASE PROVIDE A FAX NUMBER IN CASE IT IS NECESSARY TO CONTACT YOU REGARDING YOUR BID: (804)520-0089  CONTACT PERSON (PLEASE PRINT CLEARLY):			STREET, EAST		
THE ENVELOPE OR THE BID MAY NOT BE CONSIDERED:  SEALED BID  BUYER:  ALAN CUMMINGS - FILE 33  RFQ. NO.:  6612C024  BID OPENING DATE:  05/02/2012  BID OPENING TIME:  1:30 P.M.  PLEASE PROVIDE A FAX NUMBER IN CASE IT TO CONTACT YOU REGARDING YOUR BID:  (804) 520-0089  CONTACT PERSON (PLEASE PRINT CLEARLY):		CHARLES TON, WV	25305-0130		
THE ENVELOPE OR THE BID MAY NOT BE CONSIDERED:  SEALED BID  BUYER:  ALAN CUMMINGS - FILE 33  RFQ. NO.:  6612C024  BID OPENING DATE:  05/02/2012  BID OPENING TIME:  1:30 P.M.  PLEASE PROVIDE A FAX NUMBER IN CASE IT TO CONTACT YOU REGARDING YOUR BID:  (804) 520-0089  CONTACT PERSON (PLEASE PRINT CLEARLY):					
THE ENVELOPE OR THE BID MAY NOT BE CONSIDERED:  SEALED BID  BUYER:  ALAN CUMMINGS - FILE 33  RFQ. NO.:  6612C024  BID OPENING DATE:  05/02/2012  BID OPENING TIME:  1:30 P.M.  PLEASE PROVIDE A FAX NUMBER IN CASE IT TO CONTACT YOU REGARDING YOUR BID:  (804) 520-0089  CONTACT PERSON (PLEASE PRINT CLEARLY):	1				
THE ENVELOPE OR THE BID MAY NOT BE CONSIDERED:  SEALED BID  BUYER:  ALAN CUMMINGS - FILE 33  RFQ. NO.:  6612C024  BID OPENING DATE:  05/02/2012  BID OPENING TIME:  1:30 P.M.  PLEASE PROVIDE A FAX NUMBER IN CASE IT TO CONTACT YOU REGARDING YOUR BID:  (804) 520-0089  CONTACT PERSON (PLEASE PRINT CLEARLY):			WILLS THEODMATT	DU DU TUE EACE	nc l
SEALED BID  BUYER:  ALAN CUMMINGS - FILE 33  RFQ. NO.:  6612C024  BID OPENING DATE:  05/02/2012  BID OPENING TIME:  1:30 P.M.  PLEASE PROVIDE A FAX NUMBER IN CASE IT IS NECESSARY TO CONTACT YOU REGARDING YOUR BID:  (804) 520-0089  CONTACT PERSON (PLEASE PRINT CLEARLY):		THE BID SHOULD CONTAIN	N THIS INFORMALLE	SIDERED:	ur
BUYER:  ALAN CUMMINGS - FILE 33  RFQ. NO.:  6612C024  BID OPENING DATE:  05/02/2012  BID OPENING TIME:  1:30 P.M.  PLEASE PROVIDE A FAX NUMBER IN CASE IT IS NECESSARY TO CONTACT YOU REGARDING YOUR BID:  (804) 520-0089  CONTACT PERSON (PLEASE PRINT CLEARLY):		THE ENVELOPE ON THE B	I MATERIAL SECTION		
RFQ. NO.:  6612C024  BID OPENING DATE: 05/02/2012  BID OPENING TIME: 1:30 P.M.  PLEASE PROVIDE A FAX NUMBER IN CASE IT TO CONTACT YOU REGARDING YOUR BID:  (804) 520-0089  CONTACT PERSON (PLEASE PRINT CLEARLY):		SEALED BID			
RFQ. NO.:  6612C024  BID OPENING DATE: 05/02/2012  BID OPENING TIME: 1:30 P.M.  PLEASE PROVIDE A FAX NUMBER IN CASE IT TO CONTACT YOU REGARDING YOUR BID:  (804) 520-0089  CONTACT PERSON (PLEASE PRINT CLEARLY):					
BID OPENING DATE: 05/02/2012  BID OPENING TIME: 1:30 P.M.  PLEASE PROVIDE A FAX NUMBER IN CASE IT IS NECESSARY TO CONTACT YOU REGARDING YOUR BID:  (804) 520-0089  CONTACT PERSON (PLEASE PRINT CLEARLY):		BUYER:	ALAN CUMMINGS - F	ILE 33	
BID OPENING DATE: 05/02/2012  BID OPENING TIME: 1:30 P.M.  PLEASE PROVIDE A FAX NUMBER IN CASE IT IS NECESSARY TO CONTACT YOU REGARDING YOUR BID:  (804) 520-0089  CONTACT PERSON (PLEASE PRINT CLEARLY):		REO. NO.:	66120024		
BID OPENING TIME: 1:30 P.M.  PLEASE PROVIDE A FAX NUMBER IN CASE IT IS NECESSARY TO CONTACT YOU REGARDING YOUR BID:  (804) 520-0089  CONTACT PERSON (PLEASE PRINT CLEARLY):			(4)		
PLEASE PROVIDE A FAX NUMBER IN CASE IT IS NECESSARY TO CONTACT YOU REGARDING YOUR BID:  (804) 520-0089  CONTACT PERSON (PLEASE PRINT CLEARLY):		BID OPENING DATE:	0 5/02/2012		
CONTACT YOU REGARDING YOUR BID:  (804) 520-0089  CONTACT PERSON (PLEASE PRINT CLEARLY):		BID OPENING TIME:	1:30 P.M.		
CONTACT YOU REGARDING YOUR BID:  (804) 520-0089  CONTACT PERSON (PLEASE PRINT CLEARLY):					
CONTACT YOU REGARDING YOUR BID:  (804) 520-0089  CONTACT PERSON (PLEASE PRINT CLEARLY):					
CONTACT PERSON (PLEASE PRINT CLEARLY):		PLEASE PROVIDE A FAX	NUMBER IN CASE I	T IS NECESSARY	
CONTACT PERSON (PLEASE PRINT CLEARLY):		TO CONTACT YOU REGARD			
			(804) 520-0089		
Charles E Should Inc. Inm. Koulman				:	
		Charles E. Smyth	or lon Bowman		
SEE REVERSE SIDE FORTERMS AND CONDITIONS			DEVENSE SIDE FOR TERMS AND C	ONDITIONS	
SIGNATURE SIGNAT	SIGNATURE X	sce)	LETENIONE JOST LOW TELING VILLO	7317 0511	DATE I . I .
INDE ADDRESS CHANGES TO BE NOTED ABOVE	IIII.E		. 1 (8)	2) 001- 00(0)	
WHEN RESPONDING TO REQ. INSERT NAME AND ADDRESS IN SPACE ABOVE LABELED 'VENDOR'	Malional	WIT HOV.	DT MAKE AND ADDDER	\$25000 STEAMER C	



State of West Virginia Department of Administration Purchasing Division 2019 Washington Street East Post Office Box 50130 Charleston, WV 25305-0130

# Request for Quotation

6H-P-TO

٠,	RFO NUMBER	
	6612C024	

 - 14	PAGE	
	5	

ALAN CUMMINGS

RFQ	COPY	
TYPE	NAME/ADDRESS	HERE

DATE PRIN	TEO.	TER	ima of sale	SHIP VIA	F.O.B.	FREIGHT TERMS
04/16/						
BID OPENING DATE:		05/02/				1:30PM
LINE	QUAR	VIITY.	UOP CAT;	ITEM NUMBER	UNIT PRICE	AMOUNT
	12.22.02.22.23.23.2	43 - <u>A</u> 4 - <u> </u>	3			
		•				
	ANV TH	DIVIDII	AL STENTIN	THIS BID IS CER	TIEVING THAT:	
				RIZED BY THE BID		
				TS RELATED THERE		
	THE BI	DDER,	(2) THAT 1	E OR SHE IS AUTH	ORIZED TO BIND	
	THE BI	DDER I	N A CONTRA	CTUAL RELATIONSH	IP, AND (3) THAT	
				Y REGISTERED WIT		
,	AGENCI	ES THA	T MAY REQU	IRE REGISTRATION	•	
						1
	*****	THIS	IS THE E	D OF RFQ 66120	024 ***** TOTAL	.:
		11120				
	ĺ					
1						
				2.0		
	1					
1						
	1					
						<u> </u>
\$ ( 1 P) \( \)			see f	EVERSE SIDE FOR TERMS AND CO		G / / /
SIGNATURE	-XL			וריקו אין	367-8561 PAT	5/4/2
ME1 1	HALL A	10.	FEIN ,			ES TO BE NOTED ABOVE
MOHOUS!	NKT.	Var.	TO DEC INCE	RT NAME AND ADDRESS	IN SPACE AROVE LARE	I ED 'VENDOR'
VUF	שנים אוייי	ר זוטווו שוו זי	ויניאוו באוואיזייי	TATAMAN MINITARIA	THE PART OF THE PARTY	

#### 1. SPECIFICATIONS

The following sections of the West Virginia Department of Transportation, Division of Highways Standard Specification Roads and Bridges, adopted 2010, as modified by the January 1, 2011 Supplemental Specifications and the January 1, 2012 Supplemental Specifications shall apply to the administration of this Contract: 101, 102.4, 102.5, 105.1, 105.3, 105.4, 105.10, 105.11, 105.12, 105.13, 106.3, 106.4, 106.5, 106.6, 106.7, 106.9, 107.1, 107.2, 107.3, 107.14, 107.19, 107.20, 108.8, 109.1, 109.2, and 109.20

The terms "Contractor" and "Vendor" used in the above specifications or this contract are interchangeable. Contractor shall mean Vendor and Vendor shall mean Contractor.

West Virginia Department of Transportation, Division of Highways Standard Specification Roads and Bridges, adopted 2010, as modified by the January 1, 2011 Supplemental Specifications and the January 1, 2012 Supplemental Specifications may be obtained from:

West Virginia Division of Highways Contract Administration Building 5, Room 722 1900 Kanawha Boulevard, East Charleston, West Virginia 25305

Phone: 304-558-2885

http://www.transportation.wv.gov/highways/contractadmin/specifications/2010StandSpec/Pages/default.aspx

Herbicide furnished under this contract shall conform to the physical and chemical properties set out in the EPA Registration of the product provided by the Vendor.

#### 2. BIDDING INSTRUCTIONS

Vendors may bid on any or all of the products listed on the Bid Schedule. Vendors may quote Product Name requested or provide "an equal to" product.

The vendor shall list the trade name and EPA Registration Number on the Bid Schedule for each product bid. Failure to list this information on the Bid Schedule will result in the disqualification of the vendor's bid on that product.

The vendor shall provide the label from the item being bid as "an equal to" the product requested to eliminate any confusion in determining equivalency to product item requested with their bid. The final determination of equivalency will be made by the Division of Highways.

Equivalency, chemical name or equivalent, shall mean equal and not necessarily identical. Prior to award of low bid the Division of Highways may require product samples for evaluation to determine equivalency. Product specifications and technical information should be submitted with bid and may also be used to determine equivalency.

The successful vendor shall furnish two product labels, for each product awarded, to the Division of Highways. The labels shall provide pertinent information regarding product storage and handling or this information shall otherwise be provided with each shipment.

#### 3. TRAINING AND TECHNICAL ASSISTANCE

In order to bid on and be awarded items on this contract, the vendor must have a representative, holding a valid Category 7 certification in West Virginia, available to provide training and technical assistance as required or upon request by Division of Highways personnel. Each bidder shall provide the name and telephone number of their representative in the space provided below with their bid. The company shall have a valid Category 12 certification in West Virginia. A copy of the representative's current Category 7 certification and a copy of the company's current Category 12 certification in West Virginia shall be submitted with the bid.

The vendor's failure to submit the above certification information with their bid, shall result in the total disqualification of the vendor's bid.

NAME OF REPRESENTATIVE	PHONE NUMBER	<u>ADDRESS</u>
Charles E. Smyth	(804) 520-0789	1850 Touchstone Rd. Colonial Heights, VA 23834

#### 4. CONTRACT AWARD

>

It is the intent to award a contract for each product listed on the Bid Schedule. Qualified vendors who submit a valid low bid will be awarded a contract for those products for which their bid is low, provided that the vendor has listed the trade name and EPA Registration Number on the Bid Schedule for each product bid, as indicated in Section 2. <u>Failure to list this information will result in the disqualification of the vendor's bid on that product</u>.

The award for each product will be based on the bid price per unit of measure as requested on the Bid Schedule. Vendors are cautioned that the quantities on the Bid Schedule are estimates and only used for evaluation purposes.

The State of West Virginia reserves the right to make multiple awards on this contract when it is in the best interest of the State to do so.

West Virginia Dept. of Agriculture Pesticide Regulatory Programs 1900 Kanawha Blvd., East Charleston, WV 25305-0190

#### APPLY PESTICIDES CORRECTLY

\* LICENSES EXPIRE DECEMBER 31ST EACH YEAR \* IF YOU HAVE ANY QUESTIONS, CALL (304) 558-2209

Here is your new applicator/technician card. Keep this stub for your records. Please remove the punch out license and retain this sheet for your category information.

The category(ies) you are certified or registered in and the year it expires are listed below. \* 20 credits are required each 3 year period for applicators and 4 credits every year for registered technicians.

Check your applicator information at www.kellysolutions.com/wv

C05032

# YOUR PESTICIDE LICENSE IS ATTACHED BELOW.

PUNCH OUT LICENSE CARD HERE

12409

6,7,12

FOR USE ONLY IN CATEGORIES ABOVE

WEST VIRGINIA CERTIFICATION

Expires: 12/31/2012

Commercial Pesticide Applicator

Charles Eugene Smyth

Crop Production Services, Inc. 1850 Touchstone Road

Colonial Hgts. VA 22834

NOT TRANSFERABLE

AUTHORIZED REPRESENTATIVE

C05032

#### Charles Eugene Smyth

Continuing Education Credit Information	Credits Acquired	Credits Required	Credits Needed	
12-Pesticide Storage & Distribution	12	20	8	Due 12/31/2013
6-Aquatic Pest Control	8	20	12	Due 12/31/2013
7-Right-of-Way/Industrial Weed	0	20	20	Due 12/31/2014

### LICENSED PESTICIDE CONSULTANT

Issued to:

Crop Production Services Inc. 1850 Touchstone Road Colonial Heights VA 23834

Categories of Operation:

6 - Aquatic Pest Control

12 - Pesticide Storage & Distribution

7 - Right-of-Way/Industrial Weed

Qualifying Individual: Charles Eugene Smyth

License No:

C018

Plants ID:

ØØØB7G

Date Issued:

1/17/2012 Expiration Date: 12/31/2012 Commissioner of Agriculture

S

#### ACCEPTANCE PLAN

With each delivery of herbicide products to the Division of Highways, the vendor shall certify that the products delivered conform to the properties described in the EPA Registration.

Material failing to comply with the quality requirement will not be accepted.

#### 6. <u>TESTING PROCEDURES</u>

Upon award of contract, the successful vendor(s) shall supply the Division of Highways, Materials Control, Soil and Testing Division, 190 Dry Branch Road, Charleston, WV 25306, the proper testing procedures to determine the presence and concentration of the Herbicide in flowing water.

#### 7. BID QUANTITIES

Vendors are cautioned that the quantities listed on the Bid Schedule are estimates only. Actual requests will be placed to the awarded vendor from the Division of Highways by an Agency Release at the time of need.

#### 8. DELIVERY

Materials under this contract are to be shipped prepaid F.O.B. delivery to Division of Highways District Storerooms as follows:

Charleston
Huntington
Parkersburg
Clarksburg
Burlington
Moundsville
Weston
Elkins
Lewisburg
Princeton

Materials should be shipped to the location and in the quantity specified in the Agency Release within 20 days after the Agency Release is issued by the Division of Highways.

#### 9. VENDOR'S INVOICES

Vendor's invoices must be submitted in original and four copies and contain the following:

- Division of Highways Agency Release Number and Contract Number.
- b. Total quantity and unit price with the total cost of each type of item furnished.

Note: Under no circumstance will the Division of Highways accept, or pay for, quantities of material in excess of the quantity stated on the Agency Release.

#### 10. RESTRICTED AND NON-RESTRICTED HERBICIDES

Herbicide products which have been declared RESTRICTED in their use by the Environmental Protection Agency (EPA) must be applied under the supervision of a licensed herbicide applicator. The Department reserves the right to disallow the use of RESTRICTED herbicides when non-restricted herbicides are available to achieve the same objective.

#### 11. PURCHASING CARD ACCEPTANCE

The State of West Virginia currently utilizes a VISA Purchasing Card Program which is issued through a bank. The successful vendor(s) must accept the State of West Virginia VISA Purchasing Card for payment of all orders placed by any State agency as a condition of award.

	HERBICIDES	% Concentration/			Cost Per	
		Pounds per Gallon	Estimated	Unit of	Unit of	Extended
Item #	Description	of Active Ingredients	Quantity	Measure	Measure	Cost
DOH-1H	Water Soluble Emulsifiable Concentrate Containing:					
	Ammonium Salt of Fosamine with Surfactant	4 lbs/gallon				
	Product Trade Name: Krenite S or equal Krenite S	\$ 48 HOURS AND RESIDENCE FOR THE SECOND SECO				
	EPA Registration Number: 352 - 395					
	A) Supplied in 2.5 gallon containers in lots of 5 gallons		3000	gallon	\$59.15	\$177,450.00
	B) Supplied in 15 gallon returnable/refillable containers		3000	gallon	#45.45	\$136,350.00
DOH-2H	Water Soluble Emulsifiable Concentrate Containing:					
	Isopropylamine Salt of Glyphosate					
	Phosphate Ester Surfactant	50.20%	_			
	Product Trade Name: Roundup Pro Concentrate or equal Roundup Pro Concentrate					
	EPA Registration Number: 524-529				T-12-1-1-1-1-1-1-1-1-1-1-1-1-1-1-1-1-1-1	1
	A) Supplied in 30 gallon plastic returnable drums.		6000	gallon	\$12.08	\$72,480.00
	B) Supplied in 2.5 gallon containers in lots of 5 gallons		6000	gallon	\$12.05	₹72,300.00
	C) Supplied in 15 gallon returnable/refillable containers		6000	gallon	\$12.08	\$72,480.00
	D) Supplied in 255 gallon returnable/refillable shuttle. 265 gallon	ON SERVICION CONTROL OF THE CONTROL	6000	gallon	\$ 11.78	\$70,680.00
DOH-3H	Dispersible Granules Containing: Sulfometuron Methyl	75%				
	Product Trade Name: Oust XP or equalOust XP / Sulfamet					
	EPA Registration Number: 352-601 Sulforet 352-401-85588					
	A) Supplied in 3 pound containers in lots of 24 pounds ous XP 2-64 oz.		100	pound	#48-35	\$4.835.00
	B) Supplied in 3 pound jug Sulforet		100	pound	\$25.90	42,590.00
DOH-4H	Water Soluble Aqueous Suspension Containing: Oryzalin	4 lbs/gallon				
	Product Trade Name: Oryzalin 4 Pro or equalSurFlan AS					
	EPA Registration Number: 70506 - 43					
	A) Supplied in 2.5 gallon containers in lots of 5 gallons		250	gallon	\$48.10	\$12,025.00
DOH-5H	Aqueous Solution Containing: Imazapyr	2 lbs/gallon				
	Product Trade Name: Arsenal Powerline or equal Arsenal Powerline Polaris Harbi	cide				
	EPA Registration Number: 241-431 Polaris Herbicide 228-534					
	A) Supplied in 2.5 gallon containers in lots of 5 gallons Polaris Harbida		150	gallon	19.15	\$7,372.50
	B) Supplied in 15 gallon drums Arsenal Powerline		150	gallon	\$52.86	\$7,929.00

Marie and the second			Address of the Control of the Contro		No.	Water Control of the
- Lander of the second of the	HERBICIDES	% Concentration/			Cost Per	
		Pounds per Gallon	Estimated	Unit of	Unit of	Extended
Item #	Description	of Active Ingredients	Quantity	Measure	Measure	Cost
ООН-6Н	Aqueous Carrier Containing: Pendimethalin	3.8 lbs/gallon				
	Product Trade Name: Pendulum AquaCap or equal Pendulum AquaCap					
	EPA Registration Number: 241-416			,	pan-	my.
	A) Supplied in 2.5 gallon containers in lots of 5 gallons		600	gallon	\$45.20	\$27,120.00
OOH-7H	Water Soluble Concentrate Containing: Triclopyr	3 lbs/gallon				
	Product Trade Name: Garlon 3A or equal Garlon 3A / Element 3A					
	EPA Registration Number: 62719-37 Elevent 3A 62719-37				,	
	A) Supplied in 2.5 gallon containers in lots of 5 gallons Element 3A		500	gallon	#33.45	\$16,725.00
	B) Supplied in 30 gallon containers Element 3A		500	gallon	\$33.√5	\$16,725.00
	C) Supplied in 15 gallon continuum returnable/refillable containers				\$ = . 0	4050.
	in pallets of 9 containers. Garlon 3A		500	gallon	\$51.80	\$ 25,900.00
DOH-8H	Water Soluble Concentrate Containing: Triciopyr	4 lbs/gallon				
	Product Trade Name: Garlon 4 Ultra or equalGarlon 4 Ultra / Element 4					
	EPA Registration Number: 62719-527 Elevent 4 62719-40					
	A) Supplied in 2.5 gallon containers in lots of 5 gallons Element 4		250		\$41.65	\$10,412.50
	B) Supplied in 30 gallon containers Element 4		250	gallon	\$41.65	\$10,412.50
	C) Supplied in 15 gallon continuum returnable/refillable containers				\$58.45	80000
	in pallets of 9 containers. Garlon Y ultra		250	gallon	בן.מניין	14,612.50
DOH-9H	A Water Soluble Dispersible Granule Containing: Diuron	80.00%				
	Product Trade Name: Karmex XP or equal Parrot DF					
	EPA Registration Number: 66222-51			1	1 45 .	The
	A) Supplied in 5 pound bags in lots of 10 bags		2000	pound	\$4.25	\$8,500.00
	B) Supplied in 25 pound bags		2000	pound	#4.25	\$8,500.00
DOH-10H	Water Soluble Liquid Containing: Dimethylamine Salt of 2, 4-D acid	3.8 libs/gallon				
	Product Trade Name: DM A4 or equal					
	EPA Registration Number: <u>62719-3</u> Platoon 228-145				T	100 a = 0
	A) Supplied in 2.5 gallon containers in lots of 5 gallons Platoon		100	gallon	# 13.38	\$1,338,00
	B) Supplied in 30 gallon containers Platoon		100	gallon	\$13.38	\$1,338.00
	C) Supplied in 15 gallon returnable/refillable containers				# 12 0-	\$1200
	in pallets of 9 containers.		100	gallon	₹ 13.85	\$1,385.00

i de			ANNA MANAGEMENT OF THE STATE OF			Property and the second
	HERBICIDES	% Concentration/			Cost Per	
		Pounds per Gallon	Estimated	Unit of	Unit of	Extended
Item #	Description	of Active Ingredients	Quantity	Measure	Measure	Cost
DOH-11H	Water Soluble Liquid Containing:					
	Ammonium Salt of Imazapic	23.60%				
	Product Trade Name: Plateau or equal Plateau					
	EPA Registration Number: 241-365				T	
	A) Supplied in 1 gallon containers in lots of 2 gallons		50	gallon	\$112.60	\$5,630.00
	B) Supplied in 1.44 ounce packets in lots of 14 packets		4444	packet	NA	
	C) Supplied in 1 quart containers in lots of 4 quarts	and a surface an	200	quart	NA	3
	D) Supplied in 15 gallon containers		4	containers	\$ 108.25	\$6,495.00
DOH-12H	A Dispersible Liquid Containing: Hexazinone	2 lbs/gallon				
	Product Trade Name: Velpar L or equal					
	EPA Registration Number: 352-392			, ,	N.C.	ile.t.a
	A) Supplied in 2.5 gallon containers in lots of 5 gallons		50	gallon	#83.80	\$4,190.00
DOH-13H	Dry Flowable Containing: Metsulfuron Methyl	60%				
	Product Trade Name: Escort XP or equalEscort XP / Metcel VMF					
	EPA Registration Number: 352-439 Mctul 352-439-85588			_		<del></del>
	A) Supplied in 16 ounce containers in lots of 8 pounds (8-16 oz ctrs)		2400	ounce	\$2.65	\$6,360.00
	B) Supplied in 16 ounce jugs Metal VMF		2400	ounce	\$2.65	\$6,360.00
	C) Supplied in 64 ounce jug returnable/refillable Escort XP 2-64 oz.		2400	ounce	\$3.65	\$ 8,760.00
DOH-14H	Water Soluble Granule Herbicide Containing:					
	Ammonium Salt of Glyphosate	71.40%	1			
	Product Trade Name: Roundup Pro Dry or equal					
	EPA Registration Number:					7
	A) Supplied in 23.25 pound box		25	box	No Bid	
DOH-15H	Dry Flowable Containing: Chlorsulfuron	75%				
3 3 3 3 3	Product Trade Name: Telar XP or equal	]				
	EPA Registration Number: _352-654					
	A) Supplied in 8 x 16 ounce containter to a case		160	ounce	\$13.95	\$2,232.0

14	Herbicide Did Schedule					
	HERBICIDES	% Concentration/			Cost Per	
		Pounds per Gallon	Estimated	Unit of	Unit of	Extended
Item #	Description	of Active Ingredients	Quantity	Measure	Measure	Cost
DOH-16H	A Liquid Solution Containing: Isooctyl ester of 2.4 Dichlorophenoxyacetic Acid 2-ethylhrxyl ester of +R-2-(2,4-Dichlorophenoxy Propionic Acid Dicamba (3, 6-Dicholoro-o-anisic Acid)	32.48% 15.90% 5.38%				
	Product Trade Name: BK-800 or equal E2 Herbicide					
	EPA Registration Number: 228-442				Y	T= •
	A) Supplied in 2.5 gallon containers in lots of 5 gallons		100	gallon	\$49.95	\$4,995.00
	B) Supplied in 30 gallon drums		100	gallon	\$49.95	\$4,995.00
DOH-17H	Dry Flowable Containing: Tebuthiuron	80%				
	Product Trade Name: Spike 80 DF or equal Spike 80 DF  EPA Registration Number: 62719-107					
	A) Supplied in 4 pound bags in lots of 24 pounds		50	pound	119.85	\$992.50
	B) Supplied in 25 pound bags		50	pound	\$18.85	#942,50
DOH-18H	A Water Soluble Emulsfiable Concentrate Containing: Clopyralid	3 lbs/gallon				
	Product Trade Name: Transline or equal					
	EPA Registration Number: 62719-259			<b>Y</b>		
	A) Supplied in 2.5 gallon containers in lots of 5 gallons		25	gallon	\$119.45	\$2,986.25
	B) Supplied in .5 gallon containers in lots of 2 gallons		25	gallon	<b>*************************************</b>	1,493.13
DOH-19H	Aqueous Solution Containing: Isopropylamine Salt of Imazapyr	27.60%				
	Product Trade Name: Stalker or equalStalker					
	EPA Registration Number: 241-398			1		14 . 0
	A) Supplied in 1 quart containers in lots of 4 quarts		200	quart	\$ 63.09	\$ 12,618.00
DOH-20H	Aqueous Solution Containing: Diglycolamine Salt of 3, 6-Dichloro-0-Anisic Acid	4 lbs/gallon				
	Product Trade Name: Vanquish or equal Vanquish					
	EPA Registration Number: 228-397			-T	145155	مسامر در ما الما
	A) Supplied in 2.5 gallon containers in lots of 5 gallons		300	gallon	\$54.95	\$16,485.00
	B) Supplied in 15 gallon returnable/refillable containers in pallets of 9 containers.		300	gallon	\$55.65	#16,695,00 ±

I I had bell belled be	 20200	ILLA	Les

7.	HERBICIDES	% Concentration/			Cost Per	
		Pounds per Gallon	<b>Estimated</b>	Unit of	Unit of	Extended
Item #	Description	of Active Ingredients	Quantity	Measure	Measure	Cost
DOH-21H	Aqueous Solution Containing: Triciopyr	.75 lbs/gallon		ACCOUNTS OF THE PROPERTY OF TH	ya uma a a a a a a a a a a a a a a a a a	A A A A A A A A A A A A A A A A A A A
	Product Trade Name: Pathfinder II or equal Pathfinder II					
	EPA Registration Number: 62719-176					
	A) Supplied in 2.5 gallon containers in lots of 5 gallons		300	gallon	¥33.42	10,026.00
DOH-22H	A Water Soluble Emulsfiable Concentrate Containing:			* * * * * * * * * * * * * * * * * * * *		
	Isopropylamine Salt of Glyphosate	53.80%				
	Product Trade Name: Rodeo or equal Aquareat					
	EPA Registration Number: 229-365			·		
	A) Supplied in 2.5 gallon containers in lots of 5 gallons		100	gallon	\$12.15	\$1,215.00
	B) Supplied in 30 gallon plastic returnable drums		100	gallon	\$ 11.89	\$1,189.00
DOH-23H	A Liquid Containing: Aminopyralid	40.60%		inwinda <del>d</del> alelo asserbi		
	Product Trade Name: Milestone VM or equal Milestone VM -rare to be "Milestone"					
	EPA Registration Number:			1	I #	Mr. 4 - 13-1
	A) Supplied in 1 quart containers, 12 containers per lot		200	quarts	#76.22	#15,244.00
	B) Supplied in 2.5 gallon containers in lots of 5 gallons		50	gallon	\$299.73	14,986.50
DOH-24H	Water Dispersible Granular Material Containing: Prodiamine	65%				
	Product Trade Name: Endurance or equal Endurance Proclipse 65 wD6		E <sup>2</sup>			
	EPA Registration Number: 228-398 Proclipse 228-434				th	146.
	A) Supplied in 10 pound containers, 50 pounds per lot Endurance		100	pound	\$9.15	#915.00
	A) Supplied in 5 pound containers, 50 pounds per lot Proclipse 65 wDG		100	pound	# 9.15	\$915.60
DOH-25H	Emulsifiable Concentrate Containing: Quizalofop P-Ethyl	.88 lbs/gallon	2			
	Product Trade Name: Assure II or equal					
	EPA Registration Number:			_		1
	A) Supplied in 1 gallon containers in lots of 4 gallons		16	gallon	No Bid	
DOH-26H	Emulsifiable Concentrate Containing: Fluazifop-P-butyl	6.75%				
	Product Trade Name: Ornamec or equal					
	EPA Registration Number:					γ
	A) Supplied in 1 gallon containers in lots of 4 gallons		16	gallon	No Bid	

6612C024

12 Herbicide Bid Schedule

12				T		
23 (b	HERBICIDES	% Concentration/			Cost Per	
		Pounds per Gallon	Estimated	Unit of	Unit of	Extended
Item #	Description	of Active Ingredients	Quantity	Measure	Measure	Cost
DOH-27H	A Dispersible Granule Containing:					
	lmazapyr	7.78%				
	Diuron	62.22%				
	Product Trade Name: Sahara DG or equalSahara DG					
	EPA Registration Number: 241-372					T-6
	A) Supplied in 10 pound bags in lots of 40 pounds		50	pound	\$10.05	\$502.50
DOH-28H	A Water Soluble Dry Granule Containing: Sulfosulfuron	75%				
	Product Trade Name: Outrider or equal					
	EPA Registration Number: 524-500		400	Τ	W 12 44	15.1 - d
	A) Supplied in 20 ounce bottles in lots of 200 ounce	1001	400	ounce	\$11.82	44,728.00
DOH-29H	A Liquid Containing: Diuron	40%	_			
	Product Trade Name: Direx 4L or equal					
	EPA Registration Number: <u>34764-854</u>				ا د ها	la)
	A) Supplied in 2.5 gallon containers in lots of 5 gallons		50	gallon	\$20.82	\$1,041.00
DOH-30H	A Liquid Containing: Fluroxypyr	26.20%				
	Product Trade Name: Fluroxypyr or equal					
	EPA Registration Number:			_		7
	A) Supplied in 2.5 gallon containers in lots of 5 gallons		100	gallon	No Bid	
DOH-31H	A Liquid Containing: Fluroxypyr	45.52%				
	Product Trade Name: Vista XRT or equalVista XRT					
	EPA Registration Number: 62719-586					
	A) Supplied in 2.5 gallon containers in lots of 5 gallons		100	gallon	152.74	15,274.00
DOH-32H	Wettable Granule Formulation Containing:					
	Sodium Salt of Diflufenzopy: 2-[1-({3.5-Difluorophenylamino} Carbony}]					
	Hydrazono} Ethyl)-3-Pyridinecarboxylic Acid, Sodium	21.40%				
1	Sodium Salt of 3.6-Dicholoro-o-anisic Acid	55.00%				
	Product Trade Name: Overdrive or equal Overdrive					
	EPA Registration Number: 7969-150				1	14
	A) Supplied in 7.5 pound jugs, 30 pounds per case		100	pound	\$27.48	\$2,748,00

	HERBICIDES	% Concentration/			Cost Per	
		Pounds per Gallon	Estimated	Unit of	Unit of	Extended
Item #	Description	of Active Ingredients	Quantity	Measure	Measure	Cost
DOH-33H	Dispersible Granules Containing:					
	Sulfometuron Methyl	56.25%				
	Chlorsulfuron	18.75%				
	Product Trade Name: Landmark XP or equalLandmark XP					
1	EPA Registration Number: 352-645				·	
	A) Supplied in 4 pound jugs in lots of 32 pounds	33713977777779307793077	100	pound	\$116.05	\$11,605.00
	B) Supplied in 64 ounce jug, returnable/refillable 2-64 oz.		1600	ounce	\$ 7.24	\$11,584.00
DOH-34H	Dispersible Granules Containing:					
	Sulfometuron Methyl	56.25%				
	Metsulfuron Methyl	15.00%				
	Product Trade Name: Oust Extra or equalOust Extra / Sulford Extra					
	EPA Registration Number: 352-622 Sulforet Extra 352-622-85588					14
	A) Supplied in 4 pound jugs in lots of 32 pounds Sulford Extra		400	pound	<sup>3</sup> 25.90	\$10,360.00
	B) Supplied in 64 ounce jug, returnable/refillable Oust Extra 2-L4 oz.		6400	ounce	\$2.98	\$19,072.00
	C) Supplied in 12 pound jugs		400	pound	No Bid	
DOH-35H	A Dry Flowable Granule Containing:					
1	Bromacil	40%				
	Diuron	40%				
	Product Trade Name: Krovar I DF or equal Krovar I DF					
	EPA Registration Number: 352-505					T
	A) Supplied in 6 pound containers in lots of 8 containers		50	pound	\$10,98	\$549.00
DOH-36H	A Liquid Containing:					
	Imazapic	8.13%				
1	Glyphosate	21.94%	_			
	Product Trade Name: Journey or equal					
	EPA Registration Number: 141-417	. Autolium			Tax.	
	A) Supplied in 2.5 gallon containers in lots of 5 gallons		100	gallon	\$129.45	\$12,945.00

2	Herbicide Bid Schedule		00120024		A / B	<u> </u>
	HERBICIDES	% Concentration/			Cost Per	
		Pounds per Gallon	Estimated	Unit of	Unit of	Extended
Item#	Description	of Active Ingredients	Quantity	Measure	Measure	Cost
OH-37H	A Liquid Containing:	24 599/				
	Dimethylamine Salt of 2,4-Dichlovophenoxyacetic Acid	24.58% 12.82%				
	Dimethylamine Salt of Dicamba (3,6-Dichloro-o-Anisic Acid)	12.0270	-			
	Product Trade Name: Veteran 720 or equal Veteran 720					
	EPA Registration Number: 228-295			1	A .	42
	A) Supplied in 2.5 gallon containers in lots of 5 gallons		100		\$30.25	\$3,025.00
	B) Supplied in 30 gallon drums		100	gallon	\$ 29.97	\$2,997.00
OH-38H	Dispersible Granules Containing:					
	Chiorsulfuron	9%				
	Sulfometuron Methyl	18%				
	Sulfentrazone	48%	4			
	Product Trade Name: Throttle XP or equal					
	EPA Registration Number: 352-725				Lss	Tura
	A) Supplied in 3.9 pound containers, 8 containers per case		100	pound	\$89.20	\$8,920.00
OH-39H	Water Soluble Dispersible Extruded Paste Granule Containing:					
	Aminocyclopyrachlor	39.50%				
	Chlorsulfuron	15.80%	_			
	Product Trade Name: Perspective™ or equal Perspective					
	EPA Registration Number. 352-846		0.10	T	1 3/4	I
	A) Supplied in 20 ounce containers in lots of 240 ounces NA		240	ounces	NA	± 2,944.€
	B) Supplied in 20 counce tug 1.25 lb container		40		\$ 73.60	\$ 5,88%.
	C) Supplied in 5 pound containers in lots of 40 pounds		80	pounds	373.60	\$1,472.0
	D) Supplied in 5 pound jug		20	pourius	12.50	1,372.0
DOH-40H		20 500/				
	Aminocyclopyrachlor	39.50% 12.60%	-			
	Metsulfuron methyl	12.00%	_			
	Product Trade Name: Streamline™ or equal Streamline					
	EPA Registration Number: 352-84%		96	pounds	\$82.40	\$7,910.4
	A) Supplied in 3 pound containers in lots of 24 pounds		96	pounds	\$82.40	\$7,910.41
	B) Supplied in 3 pound jug c) Supplied in 20 pound bag		96	pounds		\$7,910.40

	1101010100 210 001100010					
	HERBICIDES	% Concentration/			Cost Per	
		Pounds per Gallon	Estimated	Unit of	Unit of	Extended
Item #	Description	of Active Ingredients	Quantity	Measure	Measure	Cost
DOH-41H	Water Soluble Dispersible Extruded Paste Granule Containing:	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,			***	
	Imazapry	31.60%				
	Aminocyclopyrachlor	22.80%	1			
	Metsulfuron methyl	7.30%	]			
	Product Trade Name: Viewpoint™ or equal		1			
	EPA Registration Number: 352-847					
	A) Supplied in 5 pound containers in lots of 40 pounds	Province and water	100	pounds	\$58.71	\$5,871.00
	B) Supplied in 5 pound jug c) Supplied in 20 lb bag (#58.71/16)		100	pounds	\$58.71	\$5,871.00
DOH-42H	A Liquid Containing:		i		- 1	. /
	Indaziflam	19.05%				•
		(1.67 pounds per gal)	]			
	Product Trade Name: ESPLANADE 200SC or equal Esplante 200SC		1			
	EPA Registration Number: 432-1516					
	A) Supplied in 2.5 gallon containers in lots of 5 gallons		50	gallons	\$975.00	\$48,750.00
	B) Supplied in 1 quart containers in lots of 1 gallon		50	gallons	11262.50/dt	\$52,500.00

1) #1,050.00/gal

	ADJUVANTS			Cost Per	
		Estimated	Unit of	Unit of	Extended
Item #	Description	Quantity	Measure	Measure	Cost
OH-1A	A Water Soluble Blue Liquid Spray Pattern Indicator				
	Product Trade Name: Bullseye or equal			agricultura de	
	A) Supplied in 2.5 gallon containers in lots of 5 gallons.	100	gallon	\$35.05	\$3,505.00
OH-2A	A Miscible-Dispersible Liquid Defoamer (30% Active Ingredient)				
	Product Trade Name: Unfoamed		quart gallon	115	
	A) Supplied in 1 quart containers in lots of 12.	100	gallon	₹13.65	\$1,365.00
OH-3A	A Diluent with Emulsifiers				
	Product Trade Name: Hygrade EC or Arborchem Basal Oil or Bark Oil EC or				
	Alenza Basal Oil or Penevator or equal Bark Oil EC				
	A) Supplied in containers in lots of	100	gallon	\$ 9.85	\$985.00
OOH-4A	Non-Ionic Surfactant (90% Active Ingredient)				
	Product Trade Name: Spreader 90				
	A) Supplied in 25 gallon containers in lots of 2.	100	gallon	\$10.95	\$1,095.00
DOH-5A	A Granular/Flake Drift Control Agent				
	Product Trade Name:		-		
	A) Supplied in containers in lots of	100	pound	No Bid	1
DOH-6A	A Liquid Drift Control Agent				
	Product Trade Name: Reign LC		et		
	A) Supplied in lourt containers in lots of 12.	100	gallan	\$8.45	\$845.00
DOH-7A	Aquatic Surfactant				
	Product Trade Name: Spreader 90				200000
	A) Supplied in 2-5 gallon containers in lots of 2	100	gallon	\$10.95	\$1,095.00
DOH-8A	A Water Soluble Liquid Spray Pattern Indicator				
5011071	Product Trade Name: Blueprint Plus or equal				
	A) Supplied in 2.5 gallon containers in lots of 5 gallons.	100	gallon	No Bid	
DOH-9A	A Non-lonic Sticker Spreader				
	Product Trade Name: Nu-Film-IR or equal Attach				
	A) Supplied in 2.5 gallon containers in lots of	100	gallon	#34.50	\$3,450.00
DOH-10A	A Ready-to-Use Formula Containing Paraffinic Oil Emulsifiers				
	Product Trade Name: Thinvert RTU or equal		2310022012		
	A) Supplied in 2.5 gallon containers in lots of 5 gallons per case.	100	gallon	No Bid	
	B) Supplied in 15 gallon drum.	100	gallon	No Bid	

A) Supplied per each.

12	Herbicide Bid Schedule		6612C024		
	ADJUVANTS			Cost Per	
		Estimated	Unit of	Unit of	Extended
Item #	Description	Quantity	Measure	Measure	Cost
OH-11A					
, OII 11, X	Product Trade Name: Thinvert RTU or equal				
	A) Supplied in 2.5 gallon containers in lots of 5 gallons per case.	100	gallon	No Bid	
	B) Supplied in 15 gallon drum.	100	gallon	No Bid	
	SAFETY EQUIPMENT			Cost Per	
		Estimated	Unit of	Unit of	Extended
Item #	Description	Quantity	Measure	Measure	Cost
OOH-1S	Emergency Spill Kit Containing:				
	15 Universal Plus Sorbent Pads				
	3 Cobra Coils				
	1 Pair Safety Goggles				
	1 Pair Latex Gloves				
	1 Large Refuse Bag				
	1 List of Environmental Compliance Telephone Numbers				
	Size: 18"x18"x4" Vacuum				
	Packed in Puncture Resistant Foil				
	Product Trade Name:			1.1.2:4	
	A) Supplied by the kit.	1	each	No Bid	
DOH-2S	A Granular/Flake Spill Absorbent				
	Product Trade Name:	<del></del>	1	1./ 2.1	
	A) Supplied in containers in lots of	1	pound	No Bid	
DOH-3S	32 ounce Eye Wash Bottle				
	Product Trade Name:	1	oach	Nx R: 1	
	L. V. A. C. L. C.	1	Aach	LNXKI	1

Ho Bid

each

12 Herbicide Bid Schedule

6612C024

	MISCELLANEOUS			Cost Per	
		Estimated	Unit of	Unit of	Extended
Item #	Description	Quantity	Measure	Measure	Cost
DOH-1M	Pressure Rinser				
	Product Trade Name: Easy Rinse or equal				5
	A) Supplied per each.	1	each	No Bid	11
DOH-2M	Hand Soap with Citrus Oil				
	Product Trade Name: Zep or equal				
	A) Supplied in 32 ounce containers in lots of 20 containers per case	1	container	No Bid	
DOH-3M	A Biostimulant Containing				
The corner of the corner	Soluble Potash 1.00%				
	Iron 0.36%				
	Manure Extract 79.30%				
	Humic and Fulvic Acid Extract 9.00%				
	Kelp Extract 1.20%				
	Organo-Modified Silaxane Surfactant 0.36%				
	Product Trade Name: Launch or equal				
	A) Supplied in 2.5 gallon containers in lots of 5 gallons	2.5	gallon	No Bid	
DOH-4M	Nitri-Solve 100% - 15 mil 13" Nitrile Gloves - Compliance EPA 40 CFR 170				
	A) Supplied size Small.	1	pair	No Bid	
	B) Supplied size Medium.	1	pair		
	C) Supplied size Large.	1	pair		
	D) Supplied size X-Large.	1	pair		
	E) Supplied size XX-Large.	1	pair	1 4	
DOH-5M	A 5-gallon Backpack Sprayer				
	Product Trade Name: Birchmeier or equal				
	A) Supplied per sprayer	1	each	No Bid	
	B) Gasket Set for Sprayer Pump	1	set		
	C) Hose Valve and Wand Repair Kit	1	kit	V	
DOH-6M	2-Quart Handheld Pressure Sprayer				
	Product Trade Name: Tolco or equal				
	A) Supplied per sprayer	1	each	No Bid	

12 Herbicide Bid Schedule

6612C024

	MISCELLANEOUS			Cost Per	18
Item #	Description	Estimated Quantity	Unit of Measure	Unit of Measure	Extended Cost
DOH-7M	Closed System Backpack Sprayer				
	Product Trade Name: Birchmeier BCS or equal				
	A) Supplied per sprayer	1	each	No Bid	
	B) Gasket Set for Sprayer Pump	1	set	1	
	C) Hose Valve and Wand Repair Kit	1	kit	\ \V	

# DOCUMENTS REQUIRED FROM AGENCY FOR A REQUEST FOR QUOTATION (RFQ)

Request for Quotation (RFQ): Used for one-time/single purchases, open-end contracts.

The information below is a checklist of Agency responsibilities in processing a Request for Quotation (RFQ). Please note, however, that while this information is accurate in most cases, there may be occasions where additional information may be needed or required.

	Description
V	*WV-35 Requisition or RQH Screen Signed by Agency (with estimated value & maximum budget amts)
V	Specifications & suggested vendor list (name & address)
	** WVFIMS Agency Cover Sheet (P-Document)
AA	Pre-Approvals when applicable (AG; CTO/ISC; Design Build; Gen Ser; Prison Industries; Surplus Property)
NA	Mandatory Pre-Bid Attendee List
	Addendums (information prepared by agency for processing by Purchasing Division)
	Signed Agency Recommendation for Award
	Purchasing Affidavit Signed and Dated by Successful Vendor (may be provided through bid process)
	Certification of Non-Conflict of Interest Signed by Agency Procurement Officer & Other Appropriate Staff
	WV-96 Agreement Addendum signed by Vendor & Agency (if applicable)

<sup>\*</sup> Maximum budget amounts must be reflected on the WV-35 to allow for price negotiations as authorized and described in 5A-3-11a of the Code and 148-1-7, 7.11 of the Code of Rules.

<sup>\*\*</sup> Projects that are funded by sources whereby invoices will not be processed by the State Auditor's Office do not require a P-Document. However, in those cases the funding source must be named on the WV-35 to be carried forward on the Purchase Order.



Department of Administration

Quotation

6612C024

WV PURCHASING ACA SECT Fax 304-558-4115 Apr 26 2012 10:47am P001/001

Purchasing Division
2019 Washington Street East
Post Office Box 50130
Charleston, WV 25305-0130

ADDRESS CORRESPONDENCE TO ATTENTION OF ALAN CUMMINGS 304-558-2402

DOOMERA

\*913105630 02 804-520-0789 CROP PRODUCTION SERVICES INC 1850 TOUCHSTONE RD

COLONIAL HEIGHTS VA 23834

AHIP TO

DATE PAI		TEP	MS OF SA	Œ	\$HIP:VIA	₽O.B.	FRÉIGHT TÉRMS
BID OPENING DATE		15 /00 /	007.0				
LINE		15/09/	350 March 1994	· Incharacture	BID	OPENING TIME	01:30PM
FINE	QUAN	LHY	UOP	CAT. NO	ITEM NUMBER	UNIT.PRICE	AMQUNT
0001	SECTION REPRESE A COPY CERTIFI THE BID	3 OF NTATI OF TH CATIO TO SI 'S CE	THE VE'S E COM N IN JBMIT	AD BID 0 9/201 BID P CURRE PANY WEST BOTH CATION	DENDUM NO. 01 PENING DATE FROM 2 AT 1:30 P.M. A ACKET. A COPY OF NT CATEGORY 7 CE S CURRENT CATEGO VIRGINIA SHALL B THE REPRESENTAT	05/02/2012 AT ND TO CLARIFY THE RTIFICATION AND RY 12 E SUBMITTED WIT	
		DE, AD	AVUL	ITS, S	DF RFQ 6612C		. :
LE .	N RESPON	FEIN			FISE SIDE FOR TERMS AND CONC TELEPHONE	ADDRESS CHANGE	5/14/12 S TO BE NOTED ABOVE



State of West Virginia Department of Administration
Purchasing Division
2019 Washington Street East
Post Office Box 50130
Charleston, WV 25305-0130

WV PURCHASING DIVN. Fax 304-558-3970 Request for BEONUMBER Quotation

6612C024

304-558-2402

PAGE 1

May 4 2012 03:20pm P001/001

ADDRESS CORRESPONDENCE TO ATTENTION OF ALAN CUMMINGS

t

\*913105630 02 804-520-0789 CROP PRODUCTION SERVICES INC 1850 TOUCHSTONE RD

COLONIAL HEIGHTS VA 23834

	E PRINTED 04/2012	TER	M9 OF SALE	SHIP	VIA	804		FREIGHT TERMS
BID OPENING		05/16/2	012		DID C	DENTAG MENG		
LINE	8000000					PENING TIME	01:30P	
LINE		QUANTITY	DOP CAT. NO	ITEM.N	JMBER	UNIT PRICE		AMOUNT
	ISSUE 1:30	ED TO CHA P.M. TO	1	NDUM NO. ENING DA' AT 1:30	TE FROM	05/09/2012 AT		
001		E.		75-85				
	HERBI	CCIDE, AD	JUVANTS, S	AFETY & 1	MISCELLA	NEOUS ITEMS		
	****	* THIS	S THE END	OF RFQ	6612C0	24 ***** TOTA	L:	-
			<u> </u>					
SIGNATURE	., ,	00	SEE RE	verse side for		*****		,
	Challe &				TELEPHONE		DATE 5/14/	/J2_
TITLE		FÉ	N			ADDRESS CHA	NGES TO BE	NOTED ABOVE
	WHEN RE	SPONDING 1	O RFQ, INSER	T NAME AND	ADDRESS	IN SPACE ABOVE LA		

West Virginia Dept. of Agriculture Pesticide Regulatory Programs 1900 Kanawha Blvd., East Charleston, WV 25305-0190

#### APPLY PESTICIDES CORRECTLY

\* LICENSES EXPIRE DECEMBER 31ST EACH YEAR

YOU HAVE ANY QUESTIONS, CALL (304) 558-2209

Here is your new applicator/technician card. Keep this stub for your records. Please remove the punch out license and retain this sheet for your category information.

The category(ies) you are certified or registered in and the year it expires are listed below. \* 20 credits are required each 3 year period for applicators and 4 credits every year for registered technicians.

Check your applicator information at www.kellysolutions.com/wv

### YOUR PESTICIDE LICENSE IS ATTACHED BELOW.

PUNCH OUT LICENSE CARD HERE

12409

6,7,12

FOR USE ONLY IN CATEGORIES ABOVE WEST VIRGINIA CERTIFICATION

C05032 Expires: 12/31/2012

Commercial Pesticide Applicator Charles Eugene Smyth Crop Production Services, Inc.

1850 Touchstone Road Colonial Hgts. VA 22834

NOT TRANSFERABLE

AUTHORIZED REPRESENTATIVE

C05032

Charles Eugene Smyth

Continuing Education Credit Information	Acquired	Required	Needed	
12-Pesticide Storage & Distribution	12	20	8	Due 12/31/2013
6-Aquatic Pest Control	8	20	12	Due 12/31/2013
7-Right-of-Way/Industrial Weed	0	20	20	Due 12/31/2014

### CIDE CONSULTANT

Issued to:

Crop Production Services Inc. 1850 Touchstone Road Colonial Heights VA 23834

Qualifying Individual: Charles Eugene Smyth

License No:

C018

Plants ID:

ØØØB7G Date Issued: 1/17/2012

Expiration Date: 12/31/2012

Categories of Operation:

6 - Aquatic Pest Control

12 - Pesticide Storage & Distribution

7 - Right-of-Way/Industrial Weed

Commissioner of Agriculture

0

R A S

## State of West Virginia

### VENDOR PREFERENCE CERTIFICATE

Certification and application\* is hereby made for Preference in accordance with West Virginia Code, §5A-3-37. (Does not apply to construction contracts). West Virginia Code, §5A-3-37, provides an opportunity for qualifying vendors to request (at the time of bid) preference for their residency status. Such preference is an evaluation method only and will be applied only to the cost bid in accordance with the West Virginia Code. This certificate for application is to be used to request such preference. The Purchasing Division will make the determination of the Resident Vendor Preference, if applicable.

1.	Application is made for 2.5% resident vendor preference for the reason checken.  Bidder is an individual resident vendor and has resided continuously in West Virginia for four (4) years immediately preced-
	ing the date of this certification; or, Bidder is a partnership, association or corporation resident vendor and has maintained its headquarters or principal place of business continuously in West Virginia for four (4) years immediately preceding the date of this certification; or 80% of the ownership interest of Bidder is held by another individual, partnership, association or corporation resident vendor who has maintained its headquarters or principal place of business continuously in West Virginia for four (4) years immediately preceding the date of this certification; or,
	Bidder is a nonresident vendor which has an affiliate or subsidiary which employs a minimum of one hundred state residents and which has maintained its headquarters or principal place of business within West Virginia continuously for the four (4) years immediately preceding the date of this certification; or,
2.	Application is made for 2.5% resident vendor preference for the reason checked: Bidder is a resident vendor who certifies that, during the life of the contract, on average at least 75% of the employees working on the project being bid are residents of West Virginia who have resided in the state continuously for the two years immediately preceding submission of this bid; or,
3.	Application is made for 2.5% resident vendor preference for the reason checked: Bidder is a nonresident vendor employing a minimum of one hundred state residents or is a nonresident vendor with an affiliate or subsidiary which maintains its headquarters or principal place of business within West Virginia employing a minimum of one hundred state residents who certifies that, during the life of the contract, on average at least 75% of the employees or Bidder's affiliate's or subsidiary's employees are residents of West Virginia who have resided in the state continuously for the two years immediately preceding submission of this bid; or,
4.	Application is made for 5% resident vendor preference for the reason checked: Bidder meets either the requirement of both subdivisions (1) and (2) or subdivision (1) and (3) as stated above; or,
5.	Application is made for 3.5% resident vendor preference who is a veteran for the reason checked: Bidder is an individual resident vendor who is a veteran of the United States armed forces, the reserves or the National Guard and has resided in West Virginia continuously for the four years immediately preceding the date on which the bid is submitted; or,
G. 	Application is made for 3.5% resident vendor preference who is a veteran for the reason checked: Bidder is a resident vendor who is a veteran of the United States armed forces, the reserves or the National Guard, if, for purposes of producing or distributing the commodities or completing the project which is the subject of the vendor's bid and continuously over the entire term of the project, on average at least seventy-five percent of the vendor's employees are residents of West Virginia who have resided in the state continuously for the two immediately preceding years.
require against or dedu	understands if the Secretary of Revenue determines that a Bidder receiving preference has failed to continue to meet the ments for such preference, the Secretary may order the Director of Purchasing to: (a) reject the bid; or (b) assess a penalty such Bidder in an amount not to exceed 5% of the bid amount and that such penalty will be paid to the contracting agency acted from any unpaid balance on the contract or purchase order.
authoriz the req deeme	mission of this certificate, Bidder agrees to disclose any reasonably requested information to the Purchasing Division and zes the Department of Revenue to disclose to the Director of Purchasing appropriate information verifying that Bidder has paid uired business taxes, provided that such information does not contain the amounts of taxes paid nor any other information d by the Tax Commissioner to be confidential.
and an	penalty of law for false swearing (West Virginia Code, §61-5-3), Bidder hereby certifies that this certificate is true curate in all respects; and that if a contract is issued to Bidder and if anything contained within this certificate es during the term of the contract, Bidder will notify the Purchasing Division in writing immediately.
Bldder	: Crop Production Services Signed:
Datos	5/14/12 Title: National Mkd. Mar.

\*Check any combination of preference consideration(s) indicated above, which you are entitled to receive.

#### STATE OF WEST VIRGINIA **Purchasing Division**

# **PURCHASING AFFIDAVIT**

West Virginia Code §5A-3-10a states: No contract or renewal of any contract may be awarded by the state or any of its political subdivisions to any vendor or prospective vendor when the vendor or prospective vendor or a related party to the vendor or prospective vendor is a debtor and the debt owed is an amount greater than one thousand dollars in the aggregale.

#### **DEFINITIONS:**

"Debt" means any assessment, premium, penalty, fine, tax or other amount of money owed to the state or any of its political subdivisions because of a judgment, fine, permit violation, license assessment, defaulted workers' compensation premium, penalty or other assessment presently delinquent or due and required to be paid to the state or any of its political subdivisions, including any interest or additional penalties accrued thereon.

"Debtor" means any individual, corporation, partnership, association, limited liability company or any other form or business association owing a debt to the state or any of its political subdivisions. "Political subdivision" means any county commission; municipality; county board of education; any instrumentality established by a county or municipality; any separate corporation or instrumentality established by one or more counties or municipalities, as permitted by law; or any public body charged by law with the performance of a government function or whose jurisdiction is coextensive with one or more counties or municipalities. "Related party" means a party, whether an individual, corporation, partnership, association, limited liability company or any other form or business association or other entity whatsoever, related to any vendor by blood, marriage, ownership or contract through which the party has a relationship of ownership or other interest with the vendor so that the party will actually or by effect receive or control a portion of the benefit, profit or other consideration from performance of a vendor contract with the party receiving an amount that meets or exceed five percent of the total contract amount.

EXCEPTION: The prohibition of this section does not apply where a vendor has contested any tax administered pursuant to chapter eleven of this code, workers' compensation premium, permit fee or environmental fee or assessment and the matter has not become final or where the vendor has entered into a payment plan or agreement and the vendor is not in default of any of the provisions of such plan or agreement.

Under penalty of law for false swearing (West Virginia Code §61-5-3), it is hereby certified that the vendor affirms and acknowledges the information in this affidavit and is in compliance with the requirements as stated.

WITNESS THE FOLLOWING SIGNATURE
Vendor's Name: Crop Production Services, Inc.
Authorized Signature: Date: Date: Date: Date:
State of Arkansas
County of Drew to-wit:
Taken, subscribed, and sworn to before me this H day of Mars, 2013.
My Commission expires
AFFIX SEAL HERE NOTARY PUBLIC. HOWN COLLYSTELLS
KAREN DERRYBERRY Notory Public-Aikonsos Drew County My Commission Expires 05-19-2020 Commission # 12376720